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Abstract: By connecting the sum of powers of multiple prime numbers with the power sum of natural
numbers, the relationship between even numbers in natural numbers and the sum of powers of multiple
prime numbers is obtained.
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If I hadn't calculated the sum of the products of different prime powers, I'm
afraid | would never have anything to do with Euler, because knowing how magic
works, it would be very simple.

vm,n,k,d,ng € N, Vp,px, € prime numbers, vp" =

p-1 px"-1
o Vi P = IR 01-p

Divisor of ¥p", Such as, p° p!,p% p3 p4 .. .. p",

-p°

Sum of divisors of vp*, S, =X _op™ = o

The reciprocal of the divisor of vp", Such as , p®,p7t,p2,p73,p7%,..... p™,

-n-1 n+1 o

-p° _ p"*'-p
pi-1 pi(p*-1) ’

The reciprocal sum of the divisor of vp® ,S_,=)h_,p ™ =2

s Yh=oP™ _ p™*'-p° ,p7"” Z upk P —pi® S P -py’
Syph = 20 = &m=0 = = £Lm=0tk —
Vp S_n 0 _op ™ pl-1 / p—l 1 l_[k Opk Hk 0 H ( -1 / pr1-1 )’
© pk” —pk pk “1pi° Y1 +1 _ 7™ pki(n+1)_Pk

n-oo, :Hk=0pk Hk 0( -1 )_ 00 dl’Z d H Fi-1 ’

o s¥n _ Yge,d*S 4s _ ppoo  PESCKAD_p, 0
n-ooo, oo, [Pk =5, Xam 0 =lkeo —%

2d=1d pPk=°—-1

So, the Euler product formula is not accurate, that is, Yg_,d”s ;t]'[l;”:()ﬁ
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So, the sum of any two primes can be written as an even number greater than 2,
Goldbach's conjecture is correct.
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